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And furthermore why state ‘she lost it’ — 9% 7% 77208 WM

OVERVIEW

The Xn>72 states: NN 79IWI AN2IND 7117 ANIND 772X, 1n all these cases
she collects her 712103 with 277v. According to X995 17 we interpreted 772X to
mean 7197w1. The X 13 asked several questions on this assumption. The first
was '1197w1 17" and the third was "% 1% 772°8 1. Our MooIn differentiates
between these two seemingly identical questions.

MooIN anticipates a question:
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Even though that seemingly this question of "% 7% 772X’ is the same as
the first question that the X ) asked: that 772°X is the same as P wa.
What is the difference between the first question 7197w 117" and this question 772°X 10

"5 nnY, they seem to be the exact same question. Both questions are seemingly asking that
if 772°X means 7197w, then why does it say both 772°X and 797w2.

mooIn responds:
- 1ATansT RYITS 1 NOIWIT VAN DX ITAN 1N MNP 97T AUY ¥

It can be answered, that this is what the X713 is asking in the last question,
and furthermore; meaning even if we assume that 'no9w:' is the

interpretation of '7772X1'; this may seem to answer the first question, that it is
necessary to state 797®1 in order to explain what was meant by 7772X1. Nonetheless even if
we agree that the first question is answered by assuming that with 797w1 that Xin is

explaining what he meant by 277281 —
299 NNY DTN SYPN DIPN Yo

Nevertheless it is still difficult why we need to say 172%R, and then explain
that it means 7797w, when the Xin could have said just 7197%1 and not mentioned 772KR1 at
all.

SUMMARY

The first question 797w 1171 may be answered that 797w1 is explaining
77281, but the last question is, merely say 797w1 so there will be no need to
explain 772X1.

" See “Thinking it over’.
* Occasionally a Xin may find it necessary to use a certain word, and then be required to qualify it. The third
question may be why is it necessary to use the word 772X (and then explain it).
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THINKING IT OVER
How can Mmoo even assume that 71571 explains 77283, if the case of mrnv:
separates them?!”

3 See footnote # 1.
* See A" w "N
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